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Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :
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Question Number : 101 Question Id : 63238615598 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
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Question Number : 102 Question Id : 63238615599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension Comp1

=
il

o wm o e
DR A SR LR A SR AT R A AN AR ST AL AN TR

LD

5

= - L e o BN e BB e o
RUAn e R E IR AT AR A SRR e AETAIGTRARRE =

o - no% nAn

e - R n oo -
al B SR é.jnr.p W DR TR RN 7

Sk R, BN o of N S ¢, .
=R AR A TR A IR A §E SRR R TR ER] FRREIEATR

. & 5y Bom bl Sl e & Bt W o L
g5-\'Ni-*al4‘431..‘«\-:&'3'1\0»\"—\ax‘~“‘-\-- AN AC T AN R B B R AT AL AN AT AT FRTREA 2RATE 3:.\14\4&--:-\5.‘:-!'--\%'-\:1A\-m'-\d.%.:‘q-s.'l-\xl’-.l-\];‘e‘\aﬁ‘\‘\,l’-.:-\

R e AR e bt e A T D T
ACE R LA Eam‘ [ wﬁqs_-\' 63\‘ R E AR CRE RR SR R AT R AEE '-,“E %""'d.. e RER '-\:!«\ ‘-r-\“-\"\n-\f_’;:\ﬂ:‘-‘ Y % FHCCEA G\;S-'\R BT TR 5\.1’3-’\.;‘:'-\\)'

5 p o n
e RERRERATIRAaTE i

- " oy WS e by
FURGTUATIATIUL R RS Y AL AT R A
; i - |/ i = I

o, o EyL 4 Lt
TR T TG T R ARIRSRN AR R R ST A IR
! 2 B

. ek
i . SNBSS TS
) = |
3. SmEmarcoe o AR e e S|
e N e S e

Options :

63238662393. 1
63238662394. 2
63238662395. 3

63238662396. 4

Question Number : 103 Question Id : 63238615600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension Comp1
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Question Number : 104 Question Id : 63238615601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension Comp1
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Question Number : 105 Question Id : 63238615602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Question Number : 106 Question Id : 63238615603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A




Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Question Number : 107 Question Id : 63238615604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

o o N
"a\\I -\-!ﬂwi-\r'-\oql-'-,wg‘h‘!\.‘1,5-\'-v-\:-,la~.-A:\:\‘h-;.-.-.‘:\w:u\-h\‘

AL

W
M - [ T a ES N T S, P Y
;-.'_\-\F\T \hﬂ-;g‘,i«\-e g ALY TE va \u_\ay. 4;3 ,Lwﬁ\\u\-\ VR SR AR TV G TR A ST
. N By L R o \ a:;f e o o . Y
A:\,V': i ‘\H «.i]w 3R T FARRR ;-}:r..;_h an TETL IR RN T DERERIE R n? =y ‘4"‘-\25\5\-‘--\5;\'#‘»‘-\;'—\:‘ R g \'-\l-\l FACTTA »j\'-.QH

Bn B 5
%L. {'o.‘- TEEAR ,a-\\m\-\an-\ -\'ﬁ'iﬂf\‘si"?'im«\N\.-\w.-n‘c-‘:\'-\\-\ “T -.f-.-\\‘-.J:lw VBT ERY TREE El—." E" 3'-.-.“-\ \ch -wra-\H\u-\d-w'a-s.l-\xL-\‘-! -‘\ o

m"ﬂ'"—m‘fim'r;".:q"s:"-"—"ﬁwu i
TR SN IE AR

) LY o "'\"'\ by o '\ = '\
:"\E 63\\ g -!--.hjk- w '(.\:l ;:lj-pME;'-,E ,‘u%‘.md I '\-\"A\-\'\J -.“-\‘-\,.-.;;:\a:‘-\c«-g\%E-\Lr\n G-( BT -\.r-w-q-\u\

g B Py
AR WL EG: (Al

.:';i

4

WO .
] ’3'\'1':\?;\43:“-\. iy \HA-\ iuL.|

= Ty B

ol \A.\«-\L)t-\ ATRE \-..\QJ\-.\

PELL 2 et o 1 W AT it
pratm ot g N b s R TS T i e %-\"-3"" CooE
1 T By
morgerETEE g
e L
bl —G'q 213 BT
s B S
Zmmroam Esn
J F\N\-\.I-\.-a-w_\ 1|

Options:

63238662413. 1
63238662414. 2
63238662415. 3
63238662416. 4



Question Number : 108 Question Id : 63238615605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Question Number : 109 Question Id : 63238615606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Question Number : 110 Question Id : 63238615607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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63238662426. 2
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Sub-Section Number : 2
Sub-Section Id : 6323861627
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 111 Question Id : 63238615608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Question Number : 112 Question Id : 63238615609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Question Number : 113 Question Id : 63238615610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
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Question Number : 114 Question Id : 63238615611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

p 0 e R
AT @‘\:\A SRR 5_-\‘- AR AR A .-\‘-\.d\‘-., TR

e

|
Eri LN o L .Y e
Agan -%..‘ AR "\"‘3 HEAIC ME * ;:-! IR TRL T R T AR AN RS g el I

e BB Ny - 2 §
O A SN R Rt R SR R B I S g

3 R o e LB E Sy
T A TS T AR UE RR AT AT § R TR T A A Y B YR A A TR AR
SR A e LR S R L SR

e o x ey voon
T z TWEDTL] ACE | L e s
:\__:\-}\ Xy \E"-‘.“Q\--"-'\ \ ?‘_\-\h\.f’:'\.; Y ) ".I"

T

B iy - s TR 5 S LR
:\‘.g\"dm ;3»\ ey B \| (AC AR -J:-.\' RIA I R AR g-\ Pl &= 2L ) REE ng NG é-\;ﬂe»’\

5, S =, % B A : A e
\-‘\\\. %-\ AEEE R A AREAERWY WY T AT THT 3L & o] CA'RES UREEE \‘-‘E"—'Si\“ﬁ'\\"ﬂ{ﬁll
2 7 3 ks iR \ g i | ) |

s

R TR T R g By o By
LERARTT AN ARTEY TRFAUREL RERIE) LAREH SRERE

Eony

" et g G T ey
CTRTS %a- L.‘dl-‘:_\‘:\a-p ““‘."‘?_-'\"‘.-'i.""""‘bi”"" q-ux '\-\é\"é'ﬂ\ ‘\‘:jlf.\.-‘?__‘d\n-\« JGNERGIEN ) o3 ‘.‘ia-‘

|:\ e _I'\_zl__l v N oy i O o i __‘_II'\ 2 P N
ITFF gﬂ. FRET 65 3 &\_‘-\‘d‘ & z:::l. [ e g.\ AR \-\Q_-.:\,‘J- t.._-\;“ TREET -_:R!\\ ki) Q-\I q-L!



| T g o NP P o T o Fr.

P }5:3'5'1 FRFCNEES TEwJ'?\T':-'_\'
= % k=

2 = _ — o

i e aTmi o st "-‘,-:_::\': o= ; Al o v oty |

Options:

63238662441. 1
63238662442. 2
63238662443. 3
63238662444. 4

Question Number : 115 Question Id : 63238615612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Question Number : 116 Question Id : 63238615613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
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Question Number : 117 Question Id : 63238615614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Question Number : 118 Question Id : 63238615615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Question Number : 119 Question Id : 63238615616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Question Number : 120 Question Id : 63238615617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Sub-Section Number : 3
Sub-Section Id : 6323861628
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 121 Question Id : 63238615618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 122 Question Id : 63238615619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 123 Question Id : 63238615620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 124 Question Id : 63238615621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 125 Question Id : 63238615622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 126 Question Id : 63238615623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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63238662489. 1
63238662490. 2
63238662491. 3

63238662492. 4

Question Number : 127 Question Id : 63238615624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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63238662493. 1
63238662494. 2
63238662495. 3

63238662496. 4

Question Number : 128 Question Id : 63238615625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 129 Question Id : 63238615626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Question Number : 130 Question Id : 63238615627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Sub-Section Number : 4
Sub-Section Id : 6323861629
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 131 Question Id : 63238615628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Question Number : 132 Question Id : 63238615629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Question Number : 133 Question Id : 63238615630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Question Number : 134 Question Id : 63238615631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Question Number : 135 Question Id : 63238615632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0




Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Question Number : 136 Question Id : 63238615633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Choose the correct answer from the options given below:
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Question Number : 137 Question Id : 63238615634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Choose the correct answer from the options given below:
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Question Number : 138 Question Id : 63238615635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Choose the correct answer from the options given below:
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Question Number : 139 Question Id : 63238615636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Choose the correct answer from the options given below:
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Question Number : 140 Question Id : 63238615637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Choose the correct answer from the options given below:
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Question Number : 141 Question Id : 63238615638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Question Number : 142 Question Id : 63238615639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Question Number : 143 Question Id : 63238615640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Question Number : 144 Question Id : 63238615641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Question Number : 145 Question Id : 63238615642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Question Number : 146 Question Id : 63238615643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Question Number : 147 Question Id : 63238615644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Question Number : 148 Question Id : 63238615645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0




Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Question Number : 149 Question Id : 63238615646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Question Number : 150 Question Id : 63238615647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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